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The Division of Labour – Specialisation Case Study

This is the story of John Smith, the get-ahead manager of Elegant Fashions.

John Smith was the manager of a clothing factory, which made clothes for a high quality retailer.  The factory that John was responsible for was old and John worried that it suffered from out of date methods of production.  This involved skilled workers hand sewing clothing, which sold for high prices.  The workers were skilled and received high wages.

John had studied production at the factory and realised that the task of making garments calls for many different skills i.e. cutting the material, sewing on buttons, sewing on zips, etc.  He realised that because one person made each garment from start to finish it took a long time and production was slow.

John had a bright idea!  He employed a company to come to the factory and carry out a work-study into how the factory could be organised.

The report suggested that all tasks in the production process should be divided up so that each worker would “specialise”, i.e. be responsible for only a small part of the process with one worker sewing zips, another cutting the material etc.  This process, known as the “division of labour” would reduce costs and increase output.

With every task being broken down into simple procedures workers would require little training to master their simple tasks.  Also workers would quickly become skilled at their one job.

Furthermore, with simplified tasks more machines could be used.  The work-study had also shown that time was wasted when workers moved around the factory in order to fetch materials.  From now on the production line would bring the materials to them as one worker completed their task and passed the garment on to the next worker.

John set about introducing such methods, the future looked bright!

A year later John Smith was no longer with the company!  After two strikes by the workforce and plummeting sales John was sacked.  However he soon reappeared as Manager of a McDonalds fast food restaurant.  He has introduced the same methods of production that were a disaster in his last job, but has seen output and profits rise.  Promotion is a distinct possibility.
1.
Divide your page into two.  On one side list the gains for the company of introducing such new production methods.  On the other side outline the reasons why the workers may have gone on strike.

	Gains for the Company
	Effects on the Workers

	
	


2.
Explain why the level of sales fell after the introduction of such methods.

